PUZZLES ~ BRAINS

12 BY 12 HITORI (NO. 14)

SHADE (OR BLACK OUT) CELLS SO THAT THERE ARE NO DUPLICATE NUMBERS IN EACH
ROW AND COLUMN. SHADED (ELIMINATED) CELLS MAY NOT BE HORIZONTALLY AND
VERTICALLY ADJACENT. THE REMAINING WHITE CELLS MUST FORM A SINGLE
COMPONENT AND NOT BE ISOLATED.
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S|~ ||| =[x [D|ES ||| =
(YIS |Dt|aN|v|—=|a|~|o]|©
— | Slo|la|la|an|—~|on|~|oo|~|<
N[~ |o | (D2
N[O |—~|on|t|oo|lo||—=|Z2|en]| v
~|loolo|la|[Q|Ie Do v~
— || || —=|w|~|o|=~|< Q|
ol |QIS | —=|a|Q|wvn|—~|2[~]|x
S|~ Do~ | Y
|||t |la|S |t an|a|n]|
n|lo||wvn|t|la|a|v|—~|on|~
—|len|Q oo |Q]oo| =D ||

1212 NO. 14

www.puzzlesandbrains.com

copyright:



